Oefening 1. Bereken de afgeleide

L () =30

2. % (¢72%) = —2e72

3. % () =35

a. % <xex2) — (1 +2:2)
5. % (x*e*) = e x*(3 +x)

Oefening 2. Bereken de afgeleide

1. —(e¥-e¥) =2e%e*

2. i (ex+ex) =+ eX)ex+ex
dx

3. 4 <xex3) = ex3(l +3x%)
dx

4. L (M) = x4yt
dx
d 2x 2x

5. —(xe ) =e“ (1 4+ 2x)

Oefening 3. Bereken de afgeleide

COS2 X COS2 X

. e = —2sin x cos xe

) . )
. MY = 2ginx cos xe™ ¥

o5t — a +eX)ex+ex

an2 an2
. e X = ) tan x sec? xe' ¥

1
2
3
4. 3¢ ex2x2(3 +2x%)
5
6

. xe = ex4(1 + 4x*)
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6. i (e3x+5) — 3e3x+5

dx

7. 4 (eF+e )= —e™™
dx

8. di (e529)) = 2 cos(2x)e 1)
X

9. di (e°os(3x)) =-3 Sin(3x)ecos(3x)
X

10. di (a“‘“) = (4x3 + 1)er'
X

6. % (etanx) — seczx . ptanx

7. i (elnx) — lelnx
dx X

8. 4 (ex3+x2) =(3x>+ 2x)e"3+"2
dx

9. 4 <x2e"2> = ex2x(2 +x%)
dx

10. (% (xex"'l) =1+ x)

7. oG 2 )
X

8. o) = oy sin(xz)ecos(xz)
XZ X2
9. &t =(1+ 2xex2)ex+e

10. &80 = 352 Cos(x3)esm(x3)
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